U G ey
-]

LOW MOUNT GUTTER MOUNT ‘ewern

PACK CONTENTS & FITTING INSTRUCTIONS

©@ e g7 @i o T <=

M8 FLAT WASHER M8 SPRING M8 HEXNUT M8 T BOLT M8 LARGE M6 SECURITY BOLT M6 NUT INSERT GREY HANDLE ~ UNDER-COVER
(22-0195) WASHER (22-0139) (22-0961) FLAT WASHER  (22-0352) (22-0330) KEY STRIP
X4* | X6** X4* | X6** X4* | X6** X4* | X6** (22-0186) x8* / x12** x8* / x12** (22-0356) (32-0050)
x4* | x6** x1 Xx2* x3**
LOW MOUNT GUTTERMOUNT  GUTTERMOUNT  GUTTER MOUNT  GUTTER MOUNT INTERCONNECTING BLOCK HEIGHT ADAPTOR KIT
WITH END CAPS END SUPPORT RUBBER BOOT STRAP COVER STRAP (25-0312) (BKB, BKC)
X4* | X6** (25-0310 - 2 pack)  x4* | x6** (22-0220) (34-0009) X4* | x6** x3 for TFT1212, TFT1512 & TFT1812
Each Low Mount contains x4* | x6** x4* | x6** x4 for TFT 2014 ONLY CONTAINED
two end caps IN RELEVANT FITMENTS
*4 mounting point system NOTE: Fasteners supplied with Titan Tray are required for this fitment.
**6 mounting point system The supplied number of T bolts will be reduced corresponding to the amount of height adaptor kits with hex bolts.

Read instructions thoroughly before commencing
installation.

Refer to Titan Tray instructions for tray assembly.

Skip to Step 5 on the following page if you have
already inserted the interlocking blocks.

Place tray upside down. Remove fasteners on one side and
remove the end plank.

For TFT1212, TFT1512 & TFT1812:
Insert the three interlocking blocks between the four centre planks.
Position interlocking blocks in the centre of the tray.

For TFT2014:

Insert the four interlocking blocks between the five centre planks. Re-install the end plank and fasteners.
Position interlocking blocks in the centre of the tray. Tighten fasteners securely.



LOW MOUNT GUTTER MOUNT
FITTING INSTRUCTIONS CONTINUED

¥ |

5
<
&

Unclip and remove one end cap from each of the Low Mounts.

a ﬁ— M8 T Bolt ﬁ —— M8 Hex Bolt

BKA BKB & BKC
NOTE: Ensure to combine the correct height adaptor and bolt, as
supplied in the BKA, BKB and BKC kits.

©

15
P o

Repeat for all end supports

m FRONT MID REAR

EXAMPLE ONLY

Height adaptor kits are used to level the tray on a sloped roof.
Locate the height adaptor kits and end supports to level

your tray as required. In the example above, the large adaptor
is located at the front and small adaptor in the middle and no

adaptor at the rear in order to level the tray.

BKA BKB BKC
No Adaptor One Adaptor Two Adaptors

If your Low Mount kit contains height adaptors, slide the height
adaptors into position on the end supports for each adaptor kit
(e.g. BKA, BKB, BKC).

M8 T Bolt
e Note: Use height adaptors with hex bolts when
applicable (BKB & BKC).

Repeat for all end supports

M8 Large Flat Washer
(22-0186)

/ M8 Spring Washer
T M8 Hex Nut

Tip: Leave fasteners loose to allow adjustment in next steps.
Repeat for all end supports

M8 Hex Nut
M8 Sprin wm
pring — 7 P

M8 Flat Washer—" 7 =~ o
(22-0195)

If your kit requires height adaptors, ensure the correct positioning as
shown in the previous step.
Tip: Leave fasteners loose to allow adjustment in next steps.



LOW MOUNT GUTTER MOUNT
FITTING INSTRUCTIONS CONTINUED

2 |

®

/ ™ ™
<« ““Nutinsert

f

—

\ Rubber Boot

Repeat for all end supports

®

Titan Tray

Option 1: Outboard S———

Option 2: Flush N\ ———

Option 3: Inboard = —

Slide the low mount to the desired width position.

You can adjust the Low Mount to sit outboard, flush or inboard of the
Titan Tray edge, depending on your preference and the width of your
roof.

> \]
Undercover strip Undercover strip
length 1 length 2

Cut and insert under-cover strip lengths for each Low Mount.

Lower tray onto vehicle gutter. And ensure all end supports are
mounted in the vehicle gutter.

Tip: Measuring the distance between gutters, across the roof, can help
ensure the end supports are in the right position before lifting the tray
onto the roof.

®

Securely tighten

Tighten the fasteners on the top of the tray to secure the Low Mounts
in place.

®

~—0

OR

W@

Insert under-cover strip lengths by sliding or clipping into the
Low Mounts.

Tip: Remove the tray from the vehicle roof to make it easier to insert
the uncer-cover strip.



LOW MOUNT GUTTER MOUNT —— e
FITTING INSTRUCTIONS CONTINUED ne——

® D

Strap

T

. R
= M6 Security Bolt \V m L

Strap Cover

Tighten the M8 Nut on all end supports With the tray mounted on the vehicle roof gutters, insert the M6

Security bolt through the end support assemblies. Tighten to clamp
the strap to the vehicle gutter.

Tip: This can be done while the tray is off the vehicle roof.
Ensure the end supports are in the correct position before tightening. Check all other fasteners are tight.

——Tre) |

I‘
il

Your Low Gutter Mount tray is now complete.

USAGE INSTRUCTIONS

It is essential for the proper assembly, operation and use of the roof-rack that the instructions and safety precautions supplied are strictly observed.
The maximum permissible load for your roof rack or tray is the lower of the maximum load capacity specified in your vehicle operation manual, or
specified as applying to the roof-rack or tray. Do not exceed the maximum specified load capacity.

Maximum permissible load = weight of the roof-rack and tray + weight of accessories + weight of cargo load.

When fitting the roof-rack and transporting a load, ensure the vehicle’s functions are not impaired (e.g. sunroof, aerials, windscreen wipers, mirrors).
Hatch and wagon vehicles should be inspected for adequate clearance for full opening operation of the boot/tailgate.

Stop and check all screw connections, bolts and retaining straps after a short distance of travel. Repeat these checks at regular intervals.

WARNINGS

Remember that the fitting of a roof-rack and the transport of a load increases the overall height of the carrying vehicle.

Where the roof-rack is to be used in off-road conditions, a safety weight reduction of 1.5 should be observed from the total carrying capacity (e.g. 60kg
becomes 40kg).

Cequent will not be liable to the purchaser or any other person for any consequential, direct or indirect loss, damage or costs incurred or suffered by the
purchaser or any other person including but not limited to damage to persons or property, loss of turnover, loss of profits, loss of business or goodwill
arising from or in relation to the assembly or use of the roof-rack, or the non-observance of the fitting and care instructions.



